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Reference Case Sardine HCR
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Reference Case Sardine HCR
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Linear Smoothing applied

over a range of 50 000t

If TAC,_; = 150 000t, 20% constraint on inter-annual decrease applies:
0.8%x150 000t = 120 000t



Required to avoid discontinuities as B is
approached, due to different constraints in the HCR
above and below B_,;,

Range of 350 000t or 100 000t

Reference Case: tuned for “leftward shift” to give
f = 0.146 and risks = 0.20 (rounded!)

All alternatives tuned for risk; < 0.20



Linear Smoothing above B
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Linear Smoothing above B

crit

5-7% of cases

Little difference for larger constraint

20% constraint when Em""" = E_i.,.u 50% constraint whe
Catp = 65 Cotpy = 50 Coiny = 65
Ayerage | kedian & o0%ile Average redian & 20%ile AvVerage | kedian & 90%ile
al 1".-1!'.’.':5“{,5'35“ TACSS=10 ~—~ 17-19 000t difference
B> . =350 (-139) -15.3 [-38.4,0.0] -19.1 -18.3 [-39.1,-0.4] 36 3.7 [0.3,7.2]
BS . =300 Sy -17.0 [-38.1,2.1] -16.8 -17.1 [-36.8,1.0] 13 0.0 [0-8,7.1]
5 L5=350 LS =i H
b Braey  — Brary 7\ 9-11 000t difference
B3, = 350 \ 103) 10.1 [-3.8,25.8) 111 10.8 [-2.3,26.0] 23 -2.2 [-5.2,0.1]
B:.. = 300 T B.5[-4.4,24.1] 9.1 8.6 [-4.3,24.6] 07 0.0 [-4.4,0.7]
) ssa'i.ﬂf'”“ — sgg it 7\ 2 000t difference
BZ.. = 350 \ 20) 13 [0.7,7.1] 21 1.3 [-0.5,7.1] 05 -0.3 [-1.7,0.0]
B . =300 v 1.1 [-1.0,6.5] 1.7 1.1 [-0.9,6.3] -02 0.0 [-1.2,0.2]
20% constraint when Bj_y = BY, 50% constraint whe
Citn = 65 oy = 50 Eiepg = 65
Average | kedian & 90%ile Average | Median & 20%ile Average | kedian & 30%ile
a) (TACH" " —TAC "™ [TAcgr™R) 16-17% difference
B3, = 350 \ 0.17) -017 [-0.33,0.00] 0.17 -0.16 [-0.33,0.00] 0.04 0.04 [0.00,0.08]
B> . = 300 Tis -0.16 [-0.34,0.02] 0.16 -0.16 [-0.33,0.01] 0.02 0.00 [0.00,0.08]
h] I"F!.l“:'_.'.L‘:'-]E".'I _ Ei.l'rj-ﬂ:lﬂ 'rE‘ 25 35I:I:I
N, L% ol Lo
BS . =350 ( 0.02) 0.04 [-0.01,0.04] 0.02 0.02 [0.00,0.05] 0.00 0.00 [-0.01,0.00]
B = 300 0.01 [-0.01,0.05] 0.02 0.01 [-0.01,0.05] 0.00 [-0.01,0.00]
o) (S5Buy " — SSBay ’sm*j}'-‘%l 2% difference
B3 . = 350 0.02 ) 0.01 [-0.01,0.05] 0.02 0.01 [-0.01,0.05] 0.00 [-0.01,0.00]
B> .. = 300 \u-.ﬂ{ 0.01 [-0.01,0.05] 0.02 0.01 [-0.01,0.05] 0.00 [-0.01,0.00]



Linear Smoothing above B_..

Caey = 65 Corpy = 50 Cieny = 65
Average | median & so%ile Average | median & s0%ile Average | Median & s0%ile
T o ELE=350 E15=100
3] By — B ¥
B .. = 350 1.2 -1.1 [-8.2,19.4] 2.0 -1.2 [-6.7,21.2] 0.0 0.3 [-2.9,1.0]
BS .. = 300 15 -0.6 [-7.9,19.1] 1.5 -1.4 [-8.2,19.3] 0.3 0.4[-09,1.1]
b) SSE&.[;:‘-.!EH _ 5555..::':- 100
B . = 350 0.2 -0 [-2.2,3.6] 0.4 -0.1[-184.1] 0.0 0.0 [-0.5,0.3]
B = 300 0.2 -0.1[-2.1,3.7] 0.2 -0.2 [-2.3,4.1] 0.0 0.0 [-0.2,0.3]
Cotny = 65 Cotp = 50 Coent = 65
Average | kedian & 90%ile Average | kMedian & 20%ile Average | kedian & 30%ile
N )
BZ.. = 350 .00 0.00 [-0.01,0.04] 0.00 0.00 [-0.01,0.04] 0.00 0.00 [0.00,0.00]
BE .. = 300 0.00 0.00 [-0.01,0.04] 0.00 0.00 [-0.01,0.04] 0.00 0.00 [0.00,0.00]
b] IJ.S'EE.f_';"-":":':' _ .S'E.E‘.EJ;.E'::'",ISEE.E'E"“:'}
Bo: = 350 0.00 0.00 [-0.02,0.05] 0.00 0.00 [-0.02,0.05] 0.00 0.00 [-0.01,0.00]
B .. = 300 .01 0.00 [-0.02,0.05] 0.00 0.00 [-0.0Z,0.05] 0.00 0.00 [0.00,0.00]

Final year of simulations where linear smoothing differs




* Linear Smoothing range of 100 000t is used for OMP-18
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